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import java.util.*;

class Main {
//EEBERIRE
static final int tariff[][] = { { 3, 140 }, { 6, 180 }, { 10, 190 }, { 15, 230 }, { 20, 320 },
{25, 400 }, { 30, 480 }, { 35, 570 }, { 40, 650 }, { 50, 740 }
¥

public static void main(String[] args) {
Scanner sc = new Scanner(System.in);
int distance = sc.nextInt();

System.out.print(calcCharge(distance));
}

/IREZSE
static int calcCharge(int distance){
int charge = 0;
for (int i = @; i < tariff.length; i++ ){
if(distance <= tariff[i][0] ){
charge = tariff[i][1];
break;

}

return charge;
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import java.util.*;

class Main {
//EEEERIRE
static final int tariff[][] = { { 3, 140 }, { 6, 180 }, { 10, 190 }, { 15, 230 }, { 20, 320 },
{25, 400 }, { 30, 480 }, { 35, 570 }, { 40, 650 }, { 50, 740 }
s
static final int stationsDistance[] = { 1, 8, 3, 4, 5, 2, 3, 9, 4, 3 };

public static void main(String[] args) {
Scanner sc = new Scanner(System.in);
int start = sc.nextInt();
int end = sc.nextInt();

System.out.print(calcCharge(calcDistance(start, end)));

static int calcDistance(int start, int end){
int stationl,station2,distance=0;

if(start < end){
stationl = start;
station2

}else{
stationl = end;

end;

station2 = start;

for (int i = stationl; i < station2; i++){
distance += stationsDistance[i];

¥

return distance;
¥
//REZETE

static int calcCharge(int distance){
int charge = 0;
for (int i = @; i < tariff.length; i++ ){
if(distance <= tariff[i][0] ){
charge = tariff[i][1];
break;

}

return charge;




